Ratio to ATLAS

1/N,, dN, /dN,

=
<
BN

=
(@)

=

[HEN
°|
N

[HEN
<
w

1074

107

107°

1077

[EEY

0.5

900 GeV pp Soft QCD
L I I I | I I I | I I I _I__E)
= . =5
- Charged multlpI|C|ty(NCh >0, h| <25, p_>0.5GeV) =
_ -3
= =L0
= 3w
— ] N
= e
=3 =
— -/
— Jdo
=
= ER
. 12
™
C <
= =M
— . ©
B e 1&
—
= m ATLAS m 3%
— --f3-- Herwig 7.2.0 default =
= —&— Pythia 8.130.p1 default . = c
- ¢ Sherpa 1.4.5 default e 59
_ 53
= ==
— — e
[ | | | | | | | | | | | | -
— T T T | T T T | T T T | —
— rs4d — 2
- Y =
= +* -
— red B
»
B ! ]
1
—0.5




	Contents
	Page 1


